Netiamyl 5

Chamistry in Society

Name

Test 1

30

Which two substances are required for
aaxrosion of irm to ocor?

Nitrogen and carbon dicxide
Nitrogen and oxygen

Water and carbon dicxide
Water and oxygen

UnQw»

iron natl petri dish

copper ribbon

gel containing blue colour
ferroxyl

indicator

Mhich i gives a blue colaxr with
ferraxyl irdicatar?

UnQw
@
N
+
i)

Sare metals can be dotained fram
teir axddes by heat alae.

Which of the following axides would
produce a metal when heated?

A Calcium oxide
B Copper oxide
c Zinc oxide

D Silver axdice

Tre im-electron equation far the addation
ard reduction steps in the reaction betveen
megresium ard silver (I) iais are:

Mg --> Mg* +2e”
Agt +e” -—>Ig

Tre overall redox equation is

A Mg + 2Ag* -—> Mg?* + 2ig

B Mg + 2o+ --> Mgt + Ig

C Mg + Ag* +e” -—>Mg?* + Ag + 2~
D Mg + 289 --> Mg?t + 2ig*

The im-electran equatian

Teg —-T% e +22°

reaesats the

A reductio of titanium atars
B reduction of titanium ias
c axdidation of titaniumatars
D axddation of titanium ians.

Bigool is a polymer which is

A metral and bicdecpdesble

B synthetic and bicdecpdesble

c natural and non-bicdecededble
D synthetic and nn-bicdecpdesble




Which poisoous gas is always nmede 2. TWhich of the following cadld ke mece

when polymers bum? by precipitation
A Carbon monoxide A Sihermnitrate
B hlarire B Sitver dilaride
C Carbm diaxkide C Sodivm nitrare
D Cyanide D Sodivm dhlaride
Which of the fallowing pairs of metals B. Awater saple gives a yellow flare
would give the laroest waltace if used ina alar, viid elaet ispresat inte
eledtrodemical a=l11? watker?
A Cyyoer ard tin A Ghlarire
B Tinadimm B Im
c Irn ad zirc c Sodium
D Zinc ard aogeer D Botassium
Which elarent is ot an essatial 14. 2An atan of Uranium anits an algsa
capaet of fertilisers? rerticle, which elavat is famed in
this daoe?
A Carbon
B Nitrooen A Thorium
C Botassium B Protactimiim
D Prosphorus C Neptinium
D Plutanitm

reein after 3 telf 1ives? 15,  &Elvenisirg irvolves covering ivon with
which metal?

A 1R

B 1/4 A Copper

c 1/6 B Thn

D 1/8 C Magnesium
D Zirc

Ralyprgoere softans when it is heated, this

Idicgtes thet it is

A bicdegradesble
B themesettirg
C sptledtc

D thermoplastic
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16. Titanium is an inportant metal.

8  Titanium can be extracted from titanium diadde. The titanium dickdide is reacted
with carbon ard dhlorire to produce inpure titanium chlaride and caromn diaxice.
added to the pure titanium chloride producing titanium and megnesium chloride.

Carplete the flow dert to show the extraction process.

carbon titanium dioxide
\@ﬂ Etlo<

impure
ritanium chloride

pure
titanium chloride

|

. -~ N
magnesium Reaction 2 —
N~

|

titanium

b) Anmxtre of titaniimadnidel isused tomeke the alloy, Nitinol.
The carposition of Nitirol is dhown in the table.

Metal titanium nickel

percentage by mass 45 35

Glulate themess of titanium in 20gof nmitirol.
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17. Ammia is mede when nitrogen and hydrogen react tooether.
The table below shows the percentage yields dotained when nitrogen and hydrooen

react at differat presaures.
Pressurefatmospheres Percentage vield of ammonia
25 25
S50 40
100 53
200 b7
400 80

@ Drawa lire grath of percantace yield agpinst pressure.
Uee goagariate scales to fill most of the grach reper.

b) Uee your graph to estimate the percentace yield of amnia at 150 atmospheres.

0 Nane the catalyst used to meke ammonia.
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18. Tretable catains infametion mmirerals.

Mineral Formula
cirmilar HgS
fhoite CaF,
gildsite Al (OH) ,
Fearetite Fe O,
zirchlade zns

8  Galailate the percentace by mess of calcium in fluorite, CaF,.

b TIrmnetal cn ke extracted franheenetite, Fe O, by heating with carbon monoxide,
Write an egquatio using synmols ad formulae, for this reacttion.
Trere is 1o reed to kalance the equatian.

0 DNare anetal which has to e extracted by electrolysis of the nolten are.
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19. The elanat iodine has aily ae isctaee thet is stable. Several of the radicactive iscbgoes
of iadire have medical uses. Iadine-131, far exanple, is used in the stdy of the thyroid glad
ard it decays by beta anissim.

e Corplete the following equation for beta decay of iodne 131

131

D The gragh shows how the mass of iodine-131 in a sanple changes over a pericd
of tire.

100

Mass of 5
wodine-131/pg =

20

10

0
o 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

Time/davs

Wet is tre Melf-life of this isctqe?
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0. Rilystyree ismece franthe moner, styrere. Tre systanetic rare far styrere is gaylethae.

CH = CH,
|
C.H,

Styrene (phenylethene)

@ Tremoorer used to fampolystyrere is dhown. Which part of the structure of styree

allows the polymer to fam®?
1
b) Caplete the diagram to show how three styrere noleaules join to fampart of the
polymer dein.
| | | | | |
~C—C—C—C—C—C~
| | | | | |
1
© Giveavther rane far polystyrere.
1
]

[ Bd of Questian paper |
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